Algebraic Expressions
Exercise 6A

Q1
Answer:
{
9X + T + (-6X)

=5X + TX -6x
=6Bx

(i)

51 [

2 —4

X +sx + =X

Ox +10x —12x _ Tx
15 15

(iii)

5a2b +{ -8a’b) +Ta’h
=5a°b - BaZb + 7a’b
4a%p

)
x4 5% + (—312) + (—ixz)
x? — x4+ 5% — 3%’

xX + 2xF = gxz

(v)

Xx—3y+dz+y—-2x-8z+5x—-2y- 3z s
SH-2X+BX-3y+y-2y+4z7-8z2-3zZ

=dx -4y -Tz

—4x? g2 Y L\,

(vii) Collecting like terms*dding t@g
X

5x—2x2 -8+ BxZ-Tx-9+ 3+7

b= | e2




{viii) Collecting like terms and adding them:

2 4 3 3 5 2 5 7 5
=a—=b+=c +(_za _Eb+§c)+ Ea_|_2]:|_ =c
5 7 3 2 5

_ (8-9430)a (—16 — 50 4+35)b (18 +20 —25)c
- 12 + 20 + 30

C

(ix) Collecting like terms and adding them:
& 11 9 3 5 a9

Xt Fy+HIxy + (— 3X- 3¥ 3 )
_ B, 3 1m_ 9
=sX T 3XF TV - Y AW 5w

= 1y _ 2 a2
= w* R R

(x) Collecting like terms and adding them: .
3 1.2 5 5 3 1 3 B
$x'—1x +§+(— ;x3+§x?—x+g)+(—x? +ix—+

= —ar

1 3.2 3 5 1 B

5
X
13 5 4

Q2

Answer:

(1) Txy- (-Bxy)
= Txy+ 8xy
=15xy

(i) - 3x2-x2
=42
(i) {4y - 5}~ (e y) Q

=4y -5x-x+y

=5y - Bx

a2+ p? +

—a? —a? +

(C@ﬁg like terms and adding them)
= 4ab v &9

(v) (267 - 3y% + 6xy) - (x* - )?)
222 — 22 — 3P + ¥ + {Collecting like terms and adding them)

—z? — 2y +6zy

(Vi) (22 -x-3y) - (x -y +32)
=27 -3Z -x =% -3y +Y {Collecting like terms and adding them)
=-Z-2x-2y

Q4



Answer:

(8m —7n +6p%) + (-3m - 4n - p?)
—8m — 2m — 7n —4n + 6p® — p?
=5m — 11n +5p°

(2m +4n-3p% + (-m-n-p?).
=2m —m + 4n —n —3p? —p?
—m + 3n —4p°

Now, (m+ 3n — 4p®) — (5m — lln +5p?)
= —4m +14n — 0p?

Q5

Answer:

(8a - 6a2+9)+ (-10a - 8 + 8a?)
Collecting like terms and adding them:

8a —10a —6aZ + 8a2 +9 — 8

= —2a+ 2% +1
Now, —3 —(—Qa + 2a% + 1)
=2 — 2a2 —4

Q6

Answer:

Collecting like terms and adding them:

(i) 5x+7x-9y-y



